2911 Peach Street, Wisconsin Rapids, WI 54494-1905 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474 www.renaissance.com

Yonkers, NY 10701-7044 Contact: Elan Kheyman - (914) 376-4773 x 7434 Email: ekheyman@gmail.com

Quote SummarySchool Count: 30Renaissance Products & Services Total\$74,932.50Shipping and Processing\$0.00Sales Tax\$0.00Grand TotalUSD \$74,932.50

This quote includes: Lalilo.

By signing below, Customer:

- acknowledges that the Person signing this Quote is authorized to do so;
- agrees that this Quote, any other quotes issued to Customer during the Subscription Period and Customer and its Authorized Users access to and use of the Products and Services are subject to the Renaissance Terms of Service and License located at <u>https://doc.renlearn.com/KMNet/R62416.pdf</u> which are incorporated herein by reference;
- acknowledges receipt of the Notice of Renaissance's Practices Relating to Children's Online Privacy
 <u>https://docs.renaissance.com/R63870</u> directed to you as the school official responsible for authorizing the use of the
 Renaissance Products and Services in the educational context.

To accept this offer and place an order, please sign and return this Quote.

Renaissance will issue an invoice for this Quote on the earlier of (a) the date You specify below or (b) the day before Your Subscription Period starts (Invoice Date). If You require a purchase order, You agree to provide one to Renaissance at least 15 days before the Invoice Date. You also agree to pay the invoice within 30 days of the Invoice Date.

Please check here if your organization requires a purchase order prior to invoicing: []

Renaissance Learning, Inc.	Yonkers Public School District - 18832
Ted Loll	By:
Name: Ted Wolf	Name:
Title: VP - Corporate Controller	Title:
Date: 3/27/2024	Date:
	Invoice Date:

Email: electronicorders@renaissance.com

If your billing address is different from the address at the top of this Quote, please add that billing address below. Bill To:

If changes are necessary, or additional information is required, please contact your account executive Preston Moore at (718)674-7911, Thank You.

Reference ID: 666407

2911 Peach Street, Wisconsin Rapids, WI 54494-1905 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474 www.renaissance.com

All quotes and orders are subject to availability of merchandise. This Quote is valid for 60 days from the date under Renaissance's signature. Professional development expires one year from purchase date. Alterations to this quote will not be honored without Renaissance approval. Please note: Any pricing or discount indicated is subject to change with alterations to the quote. Tax has been estimated and is subject to change without notice. Unless you provide Renaissance with a valid and correct tax exemption certificate applicable to your purchase of product and the product ship-to location, you are responsible for sales and other taxes associated with this order.

United States government and agency transactions into Arizona: The Tax or AZ-TPT item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Arizona Transaction Privilege Tax ('TPT'). The incidence of the TPT is on Renaissance Learning for the privilege of conducting business in the State of Arizona. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

Hawaii residents only: Orders shipped to Hawaii residents will be subject to the 4.166% (4.712% O'ahu Is.) Hawaii General Excise tax. United States government and agency transactions into Hawaii: The Tax or General Excise Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Hawaii General Excise Tax. The incidence of the General Excise Tax is on Renaissance Learning for the privilege of conducting business in the State of Hawaii. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

New Mexico residents only: Orders shipped to New Mexico residents will be subject to the 5.125% (Location Code: 88-888) Gross Receipts tax. United States government and agency transactions into New Mexico: The Tax or Gross Receipts Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the New Mexico Gross Receipts Tax. The incidence of the Gross Receipts Tax is on Renaissance Learning for the privilege of conducting business in the State of New Mexico. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply. Starting July 1, 2021 New Mexico requires sellers to collect tax on the state and local rate. This varies depending on the city and county.

Students can become their most amazing selves – only when teachers truly shine. Renaissance amplifies teachers' effectiveness in the classroom – transforming data into actionable insights to improve learning outcomes. Remember, we're here to ensure your successful implementation. Please allow 30-90 days for installation and set-up.

Quote Details					
Casimir Pulaski School - 18745					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	160	\$15.45	\$2,472.00	
Professional Services	·	·	·		
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Casimir Pulaski School Total			U	SD \$2,472.00	

Cesar E. Chavez School - 1677507				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	170	\$15.45	\$2,626.50
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Cesar E. Chavez School Total		U	ISD \$2,626.50	

Ella Fitzgerald Academy - 18847				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	140	\$15.45	\$2,163.00
Professional Services		1		
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Ella Fitzgerald Academy Total		Ú	ISD \$2,163.00	

Enrico Fermi School - 18837					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	250	\$15.45	\$3,862.50	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Enrico Fermi School Total		Ĺ	ISD \$3,862.50		

Eugenio Maria de Hostos Micro Society School - 18870					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	180	\$15.45	\$2,781.00	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Eugenio	Maria de Hostos Micro Society	School Total	ι	JSD \$2,781.00	

Family School 32 - 18894				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	155	\$15.45	\$2,394.75
Professional Services			·	
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Family School 32 Total			U	ISD \$2,394.75

Justice Sonia Sotomayor Community School - 8809014				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications	·			
Lalilo Subscription	07/01/2024 - 06/30/2025	225	\$15.45	\$3,476.25
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Justice Sonia Sotomayor Community School Total			ι	JSD \$3,476.25

Kahlil Gibran School - 18897					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	155	\$15.45	\$2,394.75	
Professional Services	Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Kahlil Gibran School Total			ι	JSD \$2,394.75	

Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	170	\$15.45	\$2,626.50
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Las Hermanas Mirabal Community School Total		ι	JSD \$2,626.50	

Martin Luther King Jr. Academy - 18831					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	140	\$15.45	\$2,163.00	
Professional Services	Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Martin Luther King Jr. Academy Total		Ĺ	ISD \$2,163.00		

Montessori School 27 - 308787					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications			· · · · · · · · · · · · · · · · · · ·		
Lalilo Subscription	07/01/2024 - 06/30/2025	140	\$15.45	\$2,163.00	
Professional Services	Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Montessori School 27 Total			ι	JSD \$2,163.00	

Montessori School 31 - 18899					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	145	\$15.45	\$2,240.25	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Montessori School 31 Total		U	SD \$2,240.25		

Museum School 25 - 18843				
Products & Services	Subscription Period	Quantity	Unit Price	Total

Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	105	\$15.45	\$1,622.25
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
	Museum Sc	hool 25 Total	l	USD \$1,622.25

Paideia School 15 - 1329802					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	175	\$15.45	\$2,703.75	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Paideia School 15 Total			Ĺ	JSD \$2,703.75	

Paideia School 24 - 374226					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	115	\$15.45	\$1,776.75	
Professional Services			·		
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Paideia School 24 Total		Ĺ	JSD \$1,776.75		

Patricia A. Dichiaro School - 18890					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	165	\$15.45	\$2,549.25	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Patricia A. Dichiaro School Total		Ĺ	JSD \$2,549.25		

PEARLS Hawthorne School - 18867				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				

	PEARLS Hawthorne School Total		l I	USD \$3,167.25
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
Professional Services				
Lalilo Subscription	07/01/2024 - 06/30/2025	205	\$15.45	\$3,167.25

Robert C. Dodson School - 18895					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications	·				
Lalilo Subscription	07/01/2024 - 06/30/2025	195	\$15.45	\$3,012.75	
Professional Services	·				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Robert C. Dodson School Total		U	ISD \$3,012.75		

Rosemarie Ann Siragusa School - 18859					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	165	\$15.45	\$2,549.25	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
Rosemarie Ann Siragusa School Total		Ĺ	ISD \$2,549.25		

School 16 - 18846					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	165	\$15.45	\$2,549.25	
Professional Services		·			
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
School 16 Total		ι	JSD \$2,549.25		

School 17 - 18861				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	105	\$15.45	\$1,622.25

Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
	Sci	hool 17 Total	ι	JSD \$1,622.25

School 21 - 18863					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications	·				
Lalilo Subscription	07/01/2024 - 06/30/2025	125	\$15.45	\$1,931.25	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
	So	chool 21 Total	Ĺ	JSD \$1,931.25	

School 22 - 18852					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	155	\$15.45	\$2,394.75	
Professional Services					
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
	Sc	hool 22 Total	ι	ISD \$2,394.75	

School 23 - 18841					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	115	\$15.45	\$1,776.75	
Professional Services	·				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
	Sc	hool 23 Total	ι	JSD \$1,776.75	

School 30 - 18889					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	175	\$15.45	\$2,703.75	
Professional Services			· · · ·		

purchase)	Sch	nool 30 Total		JSD \$2,703.75
Foundations Professional Learning Package (included with		1	\$0.00	\$0.00

School 5 - 706200					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	155	\$15.45	\$2,394.75	
Professional Services		-			
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
		School 5 Total	Ĺ	ISD \$2,394.75	

Westchester Hi	lls School 29 - 18898			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	150	\$15.45	\$2,317.50
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00
	Westchester Hills Sc	hool 29 Total	U	ISD \$2,317.50

William Boyce Thompson School - 18830					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Applications					
Lalilo Subscription	07/01/2024 - 06/30/2025	115	\$15.45	\$1,776.75	
Professional Services	·	·			
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00	
William Boyce Thompson School Total		ι	JSD \$1,776.75		

Yonkers Early Child	hood Academy - 5574184			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Applications				
Lalilo Subscription	07/01/2024 - 06/30/2025	220	\$15.45	\$3,399.00
Professional Services				
Foundations Professional Learning Package (included with purchase)		1	\$0.00	\$0.00

	Yonkers Early Child	Yonkers Early Childhood Academy Total		USD \$3,399.00	
Yonkers Montessori Academy - 18857					
Products & Services	Subscription Peri	od Quantity	Unit Price	Total	
Applications	·				

Lalilo Subscription07/01/2024 - 06/30/2025215\$15.45\$3,321.75Professional ServicesFoundations Professional Learning Package (included with
purchase)1\$0.00\$0.00Yonkers Montessori Academy TotalUSD \$3,321.75

Lexile is a registered trademark of MetaMetrics, Inc.

©Copyright 2024 Renaissance Learning, Inc. All rights reserved.

All logos, designs, and brand names for Renaissance's products and services are trademarks of Renaissance Learning, Inc., and its subsidiaries, registered, common law, or pending registration in the United States. All other product and company names should be considered the property of their respective companies and organizations.

Subscription Summary					
Lalilo Enterprise	Student Capacity / Q	uantity			
Casimir Pulaski School - 18745		160			
Cesar E. Chavez School - 1677507		170			
Ella Fitzgerald Academy - 18847		140			
Enrico Fermi School - 18837		250			
Eugenio Maria de Hostos Micro Society School - 18870		180			
Family School 32 - 18894		155			
Justice Sonia Sotomayor Community School - 8809014		225			
Kahlil Gibran School - 18897		155			
Las Hermanas Mirabal Community School - 18865		170			
Martin Luther King Jr. Academy - 18831		140			
Montessori School 27 - 308787		140			
Montessori School 31 - 18899		145			
Museum School 25 - 18843		105			
Paideia School 15 - 1329802		175			
Paideia School 24 - 374226		115			
Patricia A. Dichiaro School - 18890		165			
PEARLS Hawthorne School - 18867		205			
Robert C. Dodson School - 18895		195			
Rosemarie Ann Siragusa School - 18859		165			
School 16 - 18846		165			
School 17 - 18861		105			
School 21 - 18863		125			
School 22 - 18852		155			
School 23 - 18841		115			
School 30 - 18889		175			
School 5 - 706200		155			
Westchester Hills School 29 - 18898		150			
William Boyce Thompson School - 18830		115			
Yonkers Early Childhood Academy - 5574184		220			
Yonkers Montessori Academy - 18857		215			
	Lalilo Enterprise Total	4,850			